TMA4E2R1BERE

sMafE2A BEEER
B | EH 7 = £ Xt E
HEEEEES (9:00~ HEHE=E2) mEE LR
1| K| ESEERE (10:00~ #&5) o=
JERRI RS (L& TH IET) JER R itz B
2 | K
3 | A | Eawts [ABE] Mo (13:30~ ket 2 —) [AZE] #E
4 | &
5 | £
6 H
7 | A
8 | K | MaEMITITAESHESKRS (13 130~ HBITE) Ei3e
9 | XK
10 | K
1M | £ [EFEDH]
12 | £
13 ] B
14 | H
15 | X | BEZES (10 : 00~ HEEE) WHZER
6 | K R BRI SRR SHE - EHEARISHA O 2 BIESRE "
(11 : 30~ f& /&R HIA=E)
17 | K
8| 2 P 3 R ST BT AT RSB 3 AR A (9« 30~ THBAT ) BAZA. IINEA
T PEGESER S (13 : 00~ MEEAREEWEY % —) HEH
19 | £
20 | H
21 | A | BIH kA (9 : 00~ REHEE) e =
2 | % P T BRI AR AR S ERE (10 1 00~ BREZHTAAEE) AR =
A S IR RTAT R S i e Bl (13 @ 30~ JHBLT ) e =
23 | K | [REHAH]
24 | K | #AEMNHMES (13 : 30~ #%) o=
25 | &
26 | £
21 | H
28 | A | BREHEAMS A (13 30~ #/EME) = N O =

XHFEIOFT VAN ABRREOHKIILDO F-HER] - thik - HEENFHR W HTENHYFET,

1/ 1




